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| Semester B.Com. Examination, October/November 2012
(2012-13 and Onwards) (New Syllabus)
COMMERCE
1.7: Methods and Techniques for Business Decisions

Time : 3 Hours Max. Marks : 100

Instruction : Answers should be completely in English or Kannada.
KANNADA VERSION
SECTION-A
. CIRRTTCR 10 BINT VPR, FS0IROWO TINP 2 BTN, (10x2=20)

a) ©.%.0. (LCM) 25t eirss 8nd.
b) @mpnien Fosdned omded ?

€) X2 -4 =008, x 3 WSO B0 SHBOWD.
d) SNF FETTED OTWTERO ?
8) X :8=50:2'=05 x Saﬁefododgjom &BOD.

f) SEFAS Q0TTEI 2

g) 8o RRTF oTTed ?

j sl
h) A= {3 5} into ﬁq?‘ao@ﬁ@%cﬁ wRgd (A”) odaz:’%ﬁocéa &G0D.

i) $odnsosee (operating ratio) ©otdesd ?
P.T.O.
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j) 2,5,8, 11, .... 300338 308 Je a’m’dsﬂi BOTD &BOND.
k) 2338 (Duplicate) 8008 0BT ? STEHOE SRR,
) BooR 089
SECTION-B
CIRRTETR T, TR w0g0n P2 FIre 8 wosneh (4x8=32)

2. 1086 3031125 RSN BTN 6 308 5 Jeax 203 BT NS 38 T8 0ad,
OIRFYT0 ?

3. SomotOBrITN0325 IRF BRERI. 3 B Y So38 S SRy e BoANS

5 IRF BUPMOTT, 30 BN ORI FOTO LBOWO.

1 5 6 N
4 A=|7 8 9[B=|0 1 2| E8s:3WnRPrivsemd &m0,
g g7 Se=d 5
) A+2B
ii) 2A—B.

5. ¥30,000 & =becs 6% S03 3 Tard 198 RO 30m> HBWO T WS FoL)
ROPIBNS SRS TR FoR> &BOWO.

6. 9 0ot NS 200 089550 B SRS ﬁo&%ﬁ%ﬁ?ﬁi TOT SBOWD.
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SECTION-C
CIRITHTOR 3 BINON GUBOR. FBo3Rowd TINA 16 LB, (3x16=48)
7. a) AR3T FBOPROT AT WA 2x2— 7X =— 3. 8

b) A ST 30 kg 3B BHRF 26 kg eR wwS X 7,100 Rerss. o2y A
SR03 25 kg w3 B R 13 kg et e.amg 75,050 enSA 0% B s3ned

zSeJ"od::-:i.gL FORD SROWO. 8
3 4. 7

8 a)| 2 1 3|=-40 w0 3neon. 8
.y -1 2

b) TR ACDTO[I) wumedpent FINS ETOT ADOEBTEMNT) R
x—2y=16

-X+1=-y 8

9. T 42,000 ¥ 6 3onY =T mo@odaaii 1-4-2011 To) WICDOINE. HJI0F
11-5-2011 o &c@cm:«“gi 12% duazojaoé FDOODENT, DT RNR0B ABSODROT
83 BINSINTR FOTEO SoBCU0.

i) 29,0803 Reed [B.D.]
i) PR =P, [P.V]
i) s Rwed [T.D.]

iv) 23,0803 &30 [B.G.]. 16
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10. a) meMSty -3 50,000, 308> -3 75,000, wd§§ aofnw - T 30,000, IR -3 5,000,

BFT0 - £ 55,000, 2enzh monso -3 25,000.

3¢ OR VRO ABHODNOT 83 FINSRNER) BT &R,
1) 29 s [C.R.]

2) gege esome [Liquid Ratio]

3) BpoF TREEZ wRoT [Absolute Liquid Ratio]. 8

b) 20T BRROBT 3o 3 [ 6 Se BENG TIoTAT =83 13 ST, 83 3RO

15 Se FTIR) FOWO &AW ) & ReSINOBT FEFCDT, B0 HROWD. 8
ENGLISH VERSION
SECTION-A
1. Answerany 10 questions. Each sub question carries 2 marks. (10x2=20)

a) Give the meaning of LCM.

b) What are irrational numbers ?
c) Solve forx : x2 -4 =0.

d) What is a quadratic equation ?

e) If x:3=50:2. Find x.
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f) What do you mean by annuity ?

g) What is a diagonal matrix ?

1
h) IfA=[3

2
5}. Find transpose of A’.
i) What is operating ratio ?

j) Findthe 8"term ofthe AP.2,5,8, 11, ....

k) What is a duplicate ratio ? Give an example.

I) Whatis a bill of exchange ?

SECTION-B
Answer any four questions. Each question carries 8 marks. (4x8=32)

| 2. Find the largest number that divides 1086 and 1125 leaving remainder of 6 and 5

‘ respectively.

3. Afatheris 25 years older than his daughter. In three years the father’s age will

be 5 years more than that of his daughter. Find their present ages.

1 5 6 % -2 B
4 1fA=|7 8 9|B=l0 1 2|.Find
f el 2 S 5
|
; ) A+2B
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5. Find the compound interest on ¥ 30,000 at 6% p.a. for 3 years. What is the
difference between simple interest and compound interest on the same ?

6. Find the sum of all numbers between 200 and 550 which are divisible 9.

SECTION-C
Answerany 3 questions. Each question carries 16 marks. (3x16=48)
7. a) Solve by formula method 2x2—7x = - 3, 8

b) 30 kgs of commodity A and 26 kg of commodity B together cost ¥ 7,100 and
25 kg of commodity A and 13 kg of commodity B together cost % 5,050. Find

the cost price of each. 8
3 4 7

8. a) Showthat | 2 1 3|=-40 8
-5 -1 2

b) Solve by Cramer’s rule :

x—2y =16

-3 +1=-y 8

9. Abill for 42,000 was drawn on 1-4-2011 at 6 months date. It was discounted on

11-5-2011 at 12%p.a.

Calculate:

1) B.D.

2) Present worth

9 T.B.

4) B.G. 16
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10. a) Given:

Debtors - 50,000,
Inventory — 75,000
B/R-30,000,

Cash -5,000

Creditors — 55,000

Short term loans — 25,000

Calculate :

1) Current ratio

2) Liquid ratio

3) Absolute liquid ratio. 8

b) Ifthe 3“and 6™ terms of an A.P. are 7 and 13 respectively. Find the A.P. and
the 15" term. 8




